BERNRE WEEEBKEEERE

% [ BA& - AR B B B ® # " =
EENEE 20, 642, 625
(L& #EK] 15, 000, 459
KERE. REEMAEES 15, 000, 459
KERE 3,932, 558
HEEER 617,183
1 REER 1.00 353, 954 353, 954
=
2 HMER QEESZY) 3.00 87,743 263, 229
=
KERE lieEER:5t.1,2,460,0.0,.@,.6 2,078,707
3K (1) B EX - #BHSt.1,2,6 (2/8) 6.00 85,276 511, 656
bl
4 8K (2) WEEX - BRAStL. 4 (2F8) 2.00 30, 155 60, 310
iR
5 K (3) LEEK : #540,0,8.@,.6 GF) 10. 00 104, 955 1,049, 550
bl
6 S ALEHR 1.00 457,191 457,191
=
oM OKERE) lieEER:5t.1,2,460,0.0,.@,6 920, 740
1T SHEER KERE) 1.00 920, 740 920, 740
=
WESER (KEFRR) 315,928
8 MEEMEM OKEHE) 1.00 315,928 315,928
=




BERNRE WEESBKEEERE
& [ I - KT B £ fili % W OE
EBHRE 1,375, 762
KEERE IWEEK :5t.1,2,4,6D,2.3,@,® 674, 406
9 ]ig (1) WEBRX : #5St.1,2,6 3.00 75, 832 221, 496
Hh
10 #iE (2) EEX - #BRASt. 4 1.00 41,250 41,250
s
11 ]RiE (3) WE#ER : #540,.2.0.@,6 10. 00 40, 566 405, 660
Hh
o (EEHRE) IWEEBK :5t.1,2,46 1D, 2.3,@,® 443, 200
12 HiriEg (EERE) 1.00 443, 200 443, 200
=®
HESER (EERE) 258, 156
13 HEZMER (EERARE) 1.00 258, 156 258, 156
=
ELXEMREE 374, 340
PERER (EEEYRE) Il&E#ERX :St.1,2,4,6 104, 000
14 SHER (EEEYAE) 1.00 104, 000 104, 000
=
Rt - 2% (EEEYRE) 270, 340
15 217 - 28 (EXEEYHEE) 1.00 270, 340 270, 340
=®
EISRE 4,015, 440
FEISRE Il&E#EK - St. 12,13 3,609, 900




BERNRE WEESBKEEERE
£ E71 R - BksHiE B £ B ) =
16 ZiHHAE WEBRK : #4St. 12,13 254 >) 36.00 100, 275 3, 609, 900
s
SRR GESRE) EHER : St. 12,13 100, 000
17 >R GESBRAE) 1.00 100, 000 100, 000
=®
i - B GEHEHRT) 305, 540
18 fi##7 - B (GBIGHT) 1.00 305, 540 305, 540
=®
HEHEYRE 1,811, 269
HEHEYRE Il&E#EK - St.7,8,9,10, 11 547,539
19 HEHEMREE (1) IWEBRX : B4t 7,9, 1 3.00 140, 385 421,155
Hh
20 BEFEEMAE (2) ILEBRX : BRSt. 8,10 2.00 63,192 126, 384
Hh
SHERER GHEmEMRE) e #EK - St.7,8,9,10, 11 750, 000
21 AR (BRTEMRAET) 1.00 750, 000 750, 000
=®
2 - 2% (FHETEYREE) 513, 730
22 fEfr - ER (HETEYRE) 1.00 513,730 513,730
=
EERE 3,491,090
EE REERMRK 3,401, 090
23 REER/RM (1) IWWEBEREN 1.00 3,313, 060 3,313, 060
=®




BERNRE WEEEBKEEERE

& [ & - RTE B #H = B € # W E
24 RLER/M (2) LEBERER 1.00 88, 030 88, 030
=
Z Dt 90, 000
25 BBIRERAE 1.00 90, 000 90, 000
=
[F&##ERX] 5,642, 166
KEBRIE. REEVREER 5,642, 166
KERAE 3,794, 364
REEE 369, 507
26 HAHEH QEBELY) 3.00 123,169 369, 507
=
KERAE A&ERXK S5t.1,2,3,4,5,6,7 1,307, 052
27 Kk (1) —1 AEER  BRSt.1 3.00 27,663 82,989
Hh
28 K (1) —2 AEERX : BRSt.3 3.00 32,590 97,770
Hh
29 £k (2) —1 REER : #E5St. 2,4 6.00 69, 853 419,118
s
30 £k (2) —2 BEER : E5S5t.5,6,7 9.00 59, 223 533, 007
Hh
31 HELERR 1.00 174,168 174, 168
=®
S OKBERE) 1, 755, 660
32 A R OKERE) 1.00 1, 755, 660 1, 755, 660
=




BERNRE WEESBKEEERE
£ E71 R - BksHiE BAfL £ {if ) =
MEZHER KERAE) 362, 145
33 MEEERR KERAE) 1.00 362, 145 362, 145
=®
EHHRE 544,320
KEERE A&EHERX :St.2,4 162, 644
34 FiE AEBRK : BHSt.2.4 4.00 40, 661 162, 644
s
o (EEHRE) A&EEBRX St.2,4 181, 050
35 i (EEHRE) 1.00 181, 050 181, 050
=®
HESHR (EEAE) 200, 626
36 MEZ/ER (EERE) 1.00 200, 626 200, 626
=®
TSoH bURE 860, 982
TSoH FURE R&EHEKX :St.2,4 250,112
31 75y bUBE BEEBRX : B4St.2,4 4.00 62,528 250, 112
s
HIRER (TS50 FURE) BEHERK St.2,4 240, 000
38 HWHER (TS5 FURE) 1.00 240, 000 240, 000
=®
Bt - EE (IS0 FUBAE) 370, 870
39 R - ER (TS9P URE) 1.00 370, 870 370, 870
=




BERNRE WEEEBKEEERE
2 o B - AR Bify ) i ¢ %@ R

i - | 262, 500
W& - | 262, 500
40 HER1E 1.00 96, 600 96, 600

[a
41 hERE 1.00 96, 600 96, 600

[a
42 ZEWE 1.00 69, 300 69, 300

G}
HiERE 180, 000
5723 180, 000
43 £EERER 1.00 180, 000 180, 000




WIERE WEEEBKEEERE
% # s - BRHE s E i & & =

EENER 18, 045, 290
HRE 13,550,640 x 64.1% — 1,250 8,684,710
AEREER 18,045,290 + 8,684, 710 26, 730, 000
E R 2,562,600 + 34,735 2,597, 335
EEAGE 2,562, 600
EEEE 34,735
Z Ot R A 2,562,600 x 53.85% ( 35% =+ (1 — 35%) ) 1,379,960
KB RE 2,597,335 + 1,379,960 3,977,295
—REEEE 3,977,295 x 53.85% ( 35% =+ (1 — 35%) ) — 9,068 2,132,705
AEREE 3,977,295 + 2,132,705 6,110, 000
A ERBE 26,730,000 + 6,110, 000 32, 840, 000
HEGEHRLE 32,840,000 x 10.00% 3,284, 000
AEEBE 32,840,000 + 3,284,000 36,124, 000




RER-TET/ Svr— WeEEBkEEERE
EZ=
L AEERE EEL
% o] I - AR B 2 B ff % = w =
B8 E D
A 2.50 54, 600. 00 136, 500
IR
A 3.00 47, 100. 00 141, 300
B8 BT
A 1.50 36, 900. 00 55, 350
AEHT
A 0.50 34, 600. 00 17, 300
AT 250Y%
% 1.00 350, 450. 00 3, 504
& B E%8EH - 1.00K 353, 954. 00 353, 954
BS 2
B MR QEENY) B
% o B - AR B g B ff %8 W = w =
AEWEE
A 2.00 25, 900. 00 51, 800
kSws 2t
=] 1.00 35, 075. 00 35,075 4.70H / 8H
AT E 2HE0%
% 1.00 86, 875. 00 868
& B {E¥8EH - 1.00K 87, 743. 00 87, 743




RiEFR -/ N\vr—2 WEEEBKEELERE
5 :3
B IR (1) IABE - #B5St.1,2,6 (2f) 1H%Y (3.2405)
% # R - BRI B 8 B % B E w &
RBE 4 kN 2L
=] 1.00 3,518.00 3,518/2.00H / 8H
BEM FRP D 70PSE! 3.0t
H 1. 00 113, 465. 00 113, 465 8H
I B FR B
A 1.00 47,100. 00 47,100
MEREH
A 1. 00 36, 900. 00 36, 900
AEHF
A 2.00 34, 600. 00 69, 200
A 20k
% 1. 00 270, 183. 00 2,701
a B YERES - 3. 201 85, 276. 00 272,884
HE:4
B Kk (2) UEBK : BRSt.4 ) 1H%Y (7.945)
% # A - BRI B 8 B % B E w &
RBE 4 b\ 2L
=] 1.00 3,518.00 3,518/2.00H / 8H
AEMm FRP D 70PS% 3.0t
H 1. 00 79, 151. 00 79,151 8H
I B FR B
A 1.00 47,100. 00 47,100
MEREH
A 1. 00 36, 900. 00 36, 900
AEHF
A 2.00 34, 600. 00 69, 200
A 20k
% 1. 00 235, 869. 00 2,358
a B TERES - 7.90 1 30, 155. 00 238, 2217




RER-TET/ Svr— WeEEBkEEERE

&8 :5
B BK (3) WWEBR: #4ND 0.0, @ 6 (3E) 1THHY (2.6thA)
4 b R - K& BAGL H = B & # IS 5 &
RBEHE 4 by 2L
B 1.00 3,518.00 3,518 2.00H / 8H
AEMm FRP D 70PSZ! 3.0t
=] 1.00 113, 465. 00 113, 465 8H
B = HEm
A 1.00 47,100.00 47,100
B E H A
A 1.00 36, 900. 00 36, 900
BEBF
A 2.00 34, 600. 00 69, 200
MM EXZDY)
% 1.00 270, 183. 00 2,701
& R YE¥EBEH - 2.60th & 104, 955. 00 272,884
E5:6
& AEERR 1)
4 b R - BKkTE BAGL H = B & # IS 5 &
B2 H A
A 10. 50 36, 900. 00 387, 450
REE SA4 kN2 2L
B 10. 50 6,642. 00 69,7416.00H / 8H
& R fEEEEH - 1.00K 457,191. 00 457,191




RER-TET/ Svr— WeEEBkEEERE

&5 :1
2% AR KERE) 1X5Y
2 L I - BRTiE By B E B O{H & %8 W = 5 &

ERE

B®IK 46. 00 420. 00 19,320
KFAFVRE (pH)

B’k 16. 00 570. 00 9,120
LERIEE R E R E (COD Mn)

B®IK 16.00 2, 750. 00 44,000
FHEME=E (SS)

B’k 46. 00 1,900. 00 87, 400
BEEHEE D0)

B®IK 46. 00 1, 950. 00 89, 700
AIEE

B’k 16. 00 7, 000. 00 112,000
n—A~"FYUMEME

B®IK 8.00 3, 700. 00 29, 600
yO0R74)la

B’k 16. 00 5, 300. 00 84, 800
JxAT14Fa

B®IK 16.00 5, 000. 00 80, 000
7 UoEZTHESR NHA-N)

B’k 16. 00 2, 950. 00 47,200
FIHER R (N02-N)

B®IK 16.00 3, 050. 00 48, 800
THERTEZ= % (NO3-N)

B’k 16. 00 3, 050. 00 48, 800
22X TN

B®IK 16.00 7, 800. 00 124, 800
1) Bt > (PO4-P)

B’k 16. 00 2, 900. 00 46, 400
£21) > (T-P)

B®IK 16.00 3, 050. 00 48, 800
& H YE¥REH : 1.00 920, 740. 00 920, 740




RiEFR -/ N\vr—2 WEEEBKEELERE
E5:8
B BEEEN CKERT) IEEL,
# # 1A - BRTA B g fii % #E w =
EXETICTD)
A 0.60 64, 800. 00 38, 880
BEm (B)
A 2. 60 47, 200. 00 122,720
R
A 4.50 33, 600. 00 151, 200
EHARE HHEEDY
% 1. 00 312, 800. 00 3,128
a &t EEBED - 1.00=K 315, 928. 00 315,928
E5:9
B RRE (1) UABR - #5St.1,2,6 1RSY (4. 7H5)
# # A - BRI B & fii % = w &
RBE 4 b\ 2L
=] 1.00 3,518.00 3,518/2.00H / 8H
FEM FRP D 70PS% 3.0t
H 1. 00 113, 465. 00 113, 465 8H
I B FR B
A 1.00 47,100. 00 47,100
MEREH
A 1. 00 36, 900. 00 36, 900
BARKE(FA 1) 10mEL £ 20mk 55
A 1.00 56, 600. 00 56, 600
BKEHEE (F4/3-) 10mEL _E 20mk 5%
A 1. 00 56, 600. 00 56, 600
tmEygE
A 1.00 38, 700. 00 38, 700
A 2Hh0%
% 1. 00 352, 883. 00 3,528
a B YEEBED 4. 70 = 75, 832. 00 356, 411




Rt R - T/ \wr—o

H#E:10

&% ]RE (2) WEERX: BASt. 4

WEEEEKEEERE

1B5Y (7.84#1:1)

4 b R - BRTE =-Fiv] 2 B £ IS 5 &

RBEHE 4 by 2L

B 1.00 3,518.00 3,518 2.00H / 8H
aEm FRP D 70PSE! 3.0t

=] 1.00 79,151.00 79,151 8H
B E B

A 1.00 47,100.00 47,100
B = B Em A

A 1.00 36, 900. 00 36, 900
BKE(F A=) 10mEL £ 20mk &

A 1.00 56, 600. 00 56, 600
EKLTHBIE (54 /3—) 10mLL £ 20mk %

A 1.00 56, 600. 00 56, 600
tEYE

A 1.00 38, 700. 00 38, 700
A H EXZDY)

% 1.00 318, 569. 00 3,185
& R YE¥8EH - 7.80h & 41, 250. 00 321,754
B#5: 1
&% KR (3) WWEER: E#ND O,03.@, 06 1H&Y (9ths)

4 b R - BRTE =-Fiv] 2 B £ IS 5 &

RBEHE 4 by 2L

B 1.00 3,518.00 3,518 2.00H / 8H
AN FRP D 70PSZ! 3.0t

=] 1.00 113, 465. 00 113, 465 8H
B E B

A 1.00 47,100.00 47,100
B = B Em A

A 1.00 36, 900. 00 36, 900
BKE(F A=) 20mLL £ 30m=K jif

A 1.00 60, 900. 00 60, 900
BKLTHBIE (54 /3—) 20mLL £ 30mk ;&

A 1.00 60, 900. 00 60, 900
tEYE

A 1.00 38, 700. 00 38, 700
A H EXZDY)

% 1.00 361, 483. 00 3,614
& R YEEBEH - 9.00th & 40, 566. 00 365, 097




RiEFR -/ N\vr—2 WEEEBKEELERE
HE5:12
B SHRBR (EERE) IEER,
# # R - BRI B & fii % w &
L #A AL EERHR
=3 14.00 8, 700. 00 121, 800
EE EHEHR
iR 4.00 2, 250. 00 9, 000
¥R ERERE (COD) EERHR
=3 4.00 3, 650. 00 14, 600
smEiEE (L) EHERR
iR 4.00 2, 750. 00 11, 000
Akt EERHR
=3 4.00 1, 600. 00 6, 400
B4 1t 32 5T B4 (ORP) EHERR
iR 14. 00 1, 400. 00 19, 600
Bit# (1-5) EERHR
=3 4.00 3, 800. 00 15, 200
22XTN EHERR
iR 4.00 4, 750. 00 19, 000
2> TP EERHR
=3 4.00 4,150. 00 16, 600
KE - Z%R - RECNS)
iR 10. 00 21, 000. 00 210, 000
a &t EEBED - 1.00=K 443, 200. 00 443, 200
5 13
B MEBHER (EERRB) IEER,
# # A - BRI B & fii % w &
EXETICTD)
A 0. 60 64, 800. 00 38, 880
B (B)
A 2.10 47, 200. 00 99,120
3]
A 3.50 33, 600. 00 117, 600
EHARE HHEEDY
% 1.00 255, 600. 00 2,556
a B EEBED - 1.00=K 258, 156. 00 258, 156




RER-TET/ Svr— WeEEBkEEERE
E5 14
B R (EEEWRE) EEL
% o 1 - IR Bify % B B %8 w = w =
SRR EEEY
B®IK 4.00 26, 000. 00 104, 000
& it {E¥8:H - 1.00K 104, 000. 00 104, 000
=:15
B BT EE (KEAVHESD) B
2 # 1B - IR Bif % B B %8 w = " =
Wi - 2R (EEEMAE) BEEAGE
= 1.00 266, 000. 00 266, 000
BT - 2R (EEENAD) EERE
= 1.00 4, 340. 00 4,340
& it {E¥8:H - 1.00K 270, 340. 00 270, 340
H5 : 16
L BBAT LAEBK : EBASL 12,13 254 ) 1B%4Y (3 5HH)
2 # 1B - IR Bif % B B %8 w = " =
REE 54 kX2 2L
H 1.00 3,518.00 3,518 2.00H / 8H
AEMm FRP D 70PS%E! 3.0t
=] 1.00 113, 465. 00 113, 465 8H
1]
A 1.00 47, 100. 00 47,100
B & BT
A 1.00 36, 900. 00 36, 900
BKE (F 41— 10mk i
A 1.00 52, 200. 00 52, 200
BKETHBE (B4 /3—) 10mk &
A 1.00 52, 200. 00 52,200
TEYE
A 1.00 38, 700. 00 38, 700
AT 240Y%
% 2.00 344, 083. 00 6, 881
& B YE¥8EH - 3.50th A 100, 275. 00 350, 964




RER-TET/ Svr— WeEEBkEEERE
H5 17
L SRR GESEA) EE)
% o 1B - IR Bif B B e w = " =
SRR EISEY (BH)
®RiR 2.00 25, 000. 00 50, 000
SRR HEIBEY (@Y
®RiK 2.00 25, 000. 00 50, 000
& it E%8EH - 1.00K 100, 000. 00 100, 000
= :18
B RAT - B (RIBHBD) EE)
% o 1B - Bk B g B % W = w =
BT - E2= (EHRE) BEEAGE
= 1.00 301, 000. 00 301, 000
B - ER(EBAR) EERE
= 1.00 4, 540. 00 4,540
& it E%8EH - 1.00K 305, 540. 00 305, 540
H5:19
L% BREEWRAET (1) WEBE : BHSt. 7,9, 11 1BYY (254 5)
% o 1B - ARt B g B %8 w = w =
REE 54 kX2 2L
H 1.00 3,518.00 3,518 2.00H / 8H
AEMm FRP D 70PS%E! 3.0t
=] 1.00 113, 465. 00 113, 465 8H
1]
A 1.00 47, 100. 00 47,100
B & BT
A 1.00 36, 900. 00 36, 900
BKE (F4 1) 10msk %
A 1.00 52, 200. 00 52, 200
BKETHBE (F4/3—) 10mk &
A 1.00 52, 200. 00 52,200
TEYE
A 1.00 38, 700. 00 38, 700
AT 240Y%
% 2.00 344, 083. 00 6, 881
& B YE¥8EH - 2.50th A 140, 385. 00 350, 964




RER-TET/ Svr— WeEEBkEEERE
H5:20
L SREAEMRAET (2) WEHEK : HERSL.8 10 18%Y (5ihH)
% o 1 - IR B g B & & w = w =
REE 54 kX2 2L
H 1.00 3,518.00 3,518 2.00H / 8H
AEMm FRP D 70PS%E! 3.0t
=] 1.00 79,151.00 79, 151 8H
1]
A 1.00 47, 100. 00 47,100
B & BT
A 1.00 36, 900. 00 36, 900
BKE (F4 1) 10mk i
A 1.00 52, 200. 00 52, 200
BKETHBE (F4/3—) 10mk &
A 1.00 52, 200. 00 52,200
TEYE
A 1.00 38, 700. 00 38, 700
AT 240Y%
% 2.00 309, 769. 00 6,195
& B YE%8EH - 5. 00t 63, 192. 00 315, 964
521
B HHRER GHRISLEMESE) EEL
% o 1 - KT B g B & & W = w =
SRR WmEEY (3
®iK 15.00 25, 000. 00 375, 000
SRR BEELEY (W)
®iR 15.00 25, 000. 00 375, 000
& it E%8EH - 1.00K 750, 000. 00 750, 000
5 :22
B R - ER GHREEYRE) EE
% o 1 - IR B g B & & w = w =
BT - 2R (AREENRD) BEEAGE
= 1.00 505, 000. 00 505, 000
BT - 2R (ERELEDRD) EERE
= 1.00 8, 730. 00 8,730
& it E%8EH - 1.00K 513, 730. 00 513,730

10



RiEFR -/ N\vr—2 WEEEBKEELERE
S5 : 23
B RLEBRM (1) EBRES EED)
% # A - BRI B 8 B % B E w &
ZLERMB FRP D 260PS%Y
H 13. 20 248, 782. 00 3,283,922 6.00H / 8H
EIBVHF £ 1 EFRVHF R 1%
H 13.20 958. 80 12, 656
HHH 2h0%
% 0.50 3, 296, 578. 00 16, 482
a g EZRES - 1.00K 3, 313, 060. 00 3,313,060
H5:24
&% REBEM (2) WEBRER IEEL,
# # AR - BRTA B g B % #E H =
ZLERMB FRP D 260PS%Y
=] 0.50 174, 566. 00 87,2836.00H / 8H
EIBVHF £ 1 EFRVHF R 1%
H 0.50 620. 40 310
HHH 2h0%
% 0.50 87,593. 00 437
a g e 1. 00K 88, 030. 00 88,030
S : 25
B EIRERE IEER,
# # 1A - BRTA B g B % #E H =
EZRYUITHRE
IiE 2.00 45, 000. 00 90, 000
a &t EEBED - 1.00=K 90, 000. 00 90, 000

11




RER-TET/ Svr— WeEEBkEEERE

H5 : 26
B HMIERR 2EFEZY) 1Y
2 L I - BRTiE By B E B O{H & %8 W = 5 &
BIEWHEE
A 2.00 25, 900. 00 51, 800
FSwy 2t7E
=] 2.00 35, 075. 00 70,150(4. 70H / 8H
MR 2&0Y%
% 1.00 121, 950. 00 1,219
& B YE¥REH : 1.00 123, 169. 00 123,169
&5 .21
A EK (1) —1 BEEBRX RSt 1 1TB&HY (8.6 )
% L R - kTiE B H = B {f & B = i &
REE 5S4 kN 2L
=] 1.00 3,518.00 3,518 2.00H / 8H
RAEM FRP D 70PSE! 3.0t
=] 1.00 78, 837.00 78,837 8H
BIEHED
A 1.00 47,100. 00 47,100
B = AT
A 1.00 36, 900. 00 36, 900
AEBF
A 2.00 34, 600. 00 69, 200
MR 2&0Y%
% 1.00 235, 555. 00 2,355
& B YE¥8EH - 8.60h A 27,663. 00 237,910

12



RiEFR -/ N\vr—2 WEEEBKEELERE
H5:28
&% 8K (1) —2 EHBE: BRS.3 1H%Y (7.35)
% # R - BRI B 8 B % B E w &
RBE 4 kN 2L
=] 1.00 3,518.00 3,518/2.00H / 8H
FEM FRP D 70PS% 3.0t
H 1. 00 78, 837. 00 78,837 8H
I B FR B
A 1.00 47,100. 00 47,100
MEREH
A 1. 00 36, 900. 00 36, 900
AEHF
A 2.00 34, 600. 00 69, 200
A 20k
% 1. 00 235, 555. 00 2,355
a B YERES - 7.301 32, 590. 00 237,910
5 : 29
&% K (2) —1 EHBE . BSt. 2,4 1HSY (3.945)
% # A - BRI B 8 B % B E w &
RBE 4 b\ 2L
H 1. 00 3,518. 00 3,518/2. 00H / 8H
FEM FRP D 70PS% 3.0t
=] 1.00 113, 014. 00 113,014 8H
I B FR B
A 1. 00 47,100. 00 47,100
MEREH
A 1.00 36, 900. 00 36, 900
AEHF
A 2.00 34, 600. 00 69, 200
A 20k
% 1.00 269, 732. 00 2,697
a B YEEBED : 3. 90t = 69, 853. 00 272,429

13



Rt R - T/ \wr—o

%S :30

A BK (2) —2 BHEBRX: #5St.56,7

WEEEEKEEERE

1BHY (4.6415)

2 L R - KT By = B i %8 W = 5 &=
RBEHE 4 by 2L
=] 1.00 3,518.00 3,518 2.00H / 8H
FAEM FRP D 70PS%E! 3.0t
B 1.00 113,014.00 113,014 8H
B2 AR
A 1.00 47,100. 00 47,100
pil=g 10k
A 1.00 36, 900. 00 36, 900
BIEBF
A 2.00 34, 600. 00 69, 200
MM £HD%
% 1.00 269, 732. 00 2,697
& R YEXHBESN : 4.60ih = 59, 223.00 272,429
5 : 31
2 SHEEERR 1KLY
2 L R - KT By = B i %8 W = 5 &=
B = AT
A 4.00 36, 900. 00 147, 600
REE SA4 kN2 2L
B 4.00 6, 642. 00 26,568 6.00H / 8H
& R YEEBEH : 1.00 174, 168. 00 174,168

14



RER-TET/ Svr— WeEEBkEEERE

ES:32
&% SWEER OKERE) =10
4 b R - BRTE Bf H B B O & # IS 5 &

EHE

B®IK 21.00 420. 00 8,820
KFEA A4 VRE (pH)

B®iK 42.00 570. 00 23,940
LB R E R = (COD Mn)

B®IK 42.00 2, 750. 00 115, 500
L rEE R ERE (COD OH)

B®iK 9.00 2,600. 00 23,400
FilEYE = (SS)

B®IK 42.00 1, 900. 00 79, 800
BrEEEE 00)

B®iK 42.00 1, 950. 00 81,900
PNCTEE

B®IK 42.00 7, 000. 00 294,000
n—AXHUHMHEYE

B®iK 42.00 3, 700. 00 155, 400
£2% (TN

B®IK 42.00 7, 800. 00 3217, 600
21> (T-P)

B®iK 42.00 3, 050. 00 128,100
e (Zn)

B®IK 42.00 3, 100. 00 130, 200
) U ERTE )~ (P04-P)

B®iK 9.00 2,900. 00 26,100
AR 74)a

B®IK 9.00 5, 300. 00 47,700
T ER M= % (NO3-N)

B®iK 9.00 3, 050. 00 27,450
HEAEEETE = 5 (NO2-N)

B®IK 9.00 3, 050. 00 217, 450
7 UEZT HEEFR (NHA-N)

B®iK 9.00 2,950. 00 26, 550
BRBIER (BEAXIHAUM)

B®IK 9.00 2, 250. 00 20, 250
WibkE

B®iK 9.00 4,000. 00 36, 000
R (Cu)

B®IK 9.00 3, 100. 00 217,900
TILE =7 L (Al)

B®iK 9.00 3,100. 00 27,900
<A (Mn)

B®IK 9.00 3, 200. 00 28, 800
&% (Fe)

B®iK 9.00 3, 200. 00 28, 800
feA # 2 REEHEH

®IK 9.00 3, 500. 00 31,500
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RER-TET/ Svr— WeEEBkEEERE
% o B - AR Bfy % B B ff %8 w = w =
Jx/—)LEF
®RiR 9.00 3, 400. 00 30, 600
& it {E¥8:H - 1.00K 1, 755, 660. 00 1, 755, 660
&5 : 33
& MEBER OKERBD) B
2 # 1B - AR By % B B %8 = ® =
I B (B3
A 0. 60 64, 800. 00 38, 880
HEF (B)
A 3.00 47, 200. 00 141, 600
B8
A 5.30 33, 600. 00 178, 080
EBARE HBEEDY
% 1.00 358, 560. 00 3, 585
& it {E¥8:H - 1.00K 362, 145. 00 362, 145
H5 34
B IR EHBK - BASt 2.4 1B4Y (6. THH)
2 # 1B - AR By % B B %8 = " =
REE S4 kx> 20
H 1.00 3,518.00 3,518 2.00H / 8H
SREM FRP D 70PS#E! 3.0t
=] 1.00 113,014.00 113,014 8H
B8 D
A 1.00 47,100. 00 47,100
RS
A 1.00 36, 900. 00 36, 900
AEHTF
A 2.00 34, 600. 00 69, 200
HHH 2HE0%
% 1.00 269, 732. 00 2,697
& B {EX8EH - 6. 70t & 40, 661. 00 272,429
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RER-TET/ Svr— WeEEBkEEERE

S : 35
2% AHER (RERE) 1X5Y
2 L I - BRTiE By B E B O{H & %8 W = 5 &
BILIEE BHARRA
B®IK 5.00 4, 250. 00 21,250
HIEEAR X EHEHR
B®iK 4.00 8, 700. 00 34, 800
RE EH=RER
B®IK 4.00 2, 250. 00 9,000
feZrEE R ERE (COD) EHEHR
B®iK 4.00 3, 650. 00 14, 600
sREEE (IL) EH=RER
B®IK 4.00 2, 750. 00 11,000
Bt (T-S) EHEHR
B®iK 4.00 3, 800. 00 15, 200
22X TN BHRER
B®IK 4.00 3, 600. 00 14, 400
21) > (T-P) AR
B®iK 4.00 3,050. 00 12,200
T oEZTHESR (NHA-N) BHRER
B®IK 4.00 2, 950. 00 11, 800
HREER = & (N02-N) AR
B®iK 4.00 3,050. 00 12,200
THER 1+ 2= % (NO3-N) BHRER
B®IK 4.00 3, 050. 00 12,200
1) U EgtE) > (PO4-P) AR
B®iK 4.00 3,100. 00 12, 400
& &t fEEfEH - 1.00K 181, 050. 00 181, 050
%S : 36
2% MEEER (EERARE) 1X5Y
2 L & - BKTiE By B E B O{H & %8 W = 5 &
F AR GRED
A 1.30 64, 800. 00 84, 240
AR (B)
A 1.00 47, 200. 00 47, 200
BT &
A 2.00 33, 600. 00 67, 200
EERARE FEEDY
% 1.00 198, 640. 00 1,986
& &t fEEEEH - 1.00K 200, 626. 00 200, 626
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Rtz - T/ Nvor—2 WEEEBKERERE
&5 : 37
BF TS5V FURE BSBE BASL2.4 188 Y (4. 4455)
# # 1R - AR A Bify g B ff % I w =
REHE 4 kY 20
=] 1.00 3,518.00 3,518/2.00H / 8H
&M FRP D 70PS% 3.0t
H 1.00 113, 014. 00 113,014 8H
1]
A 1.00 47,100. 00 47,100
BB
A 1.00 36, 900. 00 36, 900
AEHTF
A 2.00 34, 600. 00 69, 200
HHH 2Hh0%
% 2.00 269, 732. 00 5,394
= i TEEBED : 4. 40t 62, 528. 00 275,126
S : 38
B HHHER (TS50 FURT) EEL,
# # 1R - AR A Bify g B ff % I w =
SRR BwISU LY
3% 8.00 20, 000. 00 160, 000
AR BMISY
=3 4.00 20, 000. 00 80, 000
a8 &t e 1. 00K 240, 000. 00 240, 000
= :39
B B BE (500 VRSB EEL,
# # 1A - BRTA B g B ff % = w =
@i - ER (TS50 ~FUREE) EEAGE
= 1. 00 365, 000. 00 365, 000
B - ER (TS50 FUREE) EEEE
= 1.00 5, 870. 00 5, 870
a8 &t e 1. 00K 370, 870. 00 370,870
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RiEFR -/ N\vr—2 WEEEBKEELERE
H5: 40
& BHTHE 1EHY
% # R - BRI B 8 fii % w &
I fE FRER
A 1.00 54, 600. 00 54, 600
B
A 0.50 47,100. 00 23, 550
IR R
A 0.50 36, 900. 00 18, 450
a Bl 1EZEES - 1. 00 96, 600. 00 96, 600
&5 . 41
B RIS 1EHY
# # 1A - BRTA B g fii % w =
IR E A
A 1. 00 54, 600. 00 54, 600
I B FR B
A 0.50 47,100. 00 23, 550
MEREH
A 0.50 36, 900. 00 18, 450
a &t EEBES - 1. 00 96, 600. 00 96, 600
EFE 42
B BRBE 1EHY
% # R - BRI B 8 fii % w &
I fE FRER
A 0.50 54, 600. 00 27, 300
B
A 0.50 47,100. 00 23, 550
IR R
A 0.50 36, 900. 00 18, 450
a Bl EZRES - 1.00H 69, 300. 00 69, 300
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RER-TET/ Svr— WeEEBkEEERE

S 43
2 XBRESR 1zt Yy
£ b g - BRKTE BAGL H 2 B {f ® 8B " = 5 &=
EBERERE
= 1.00 180, 000. 00 180, 000
& H YE¥REH : 1.00 180, 000. 00 180, 000
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